Existence of positive solutions for a three-point boundary value problem with fractional q-differences

Yueqiang Song **

^aResearch department, Changchun Normal University, Changchun 130032, Jilin, PR China

Abstract

In this paper, we consider the following nonlinear q-fractional three-point boundary value problem

$$(D_q^{\alpha}u)(t) + f(t, u(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha < 3,$$

$$u(0) = (D_q u)(0) = 0, \quad (D_q u)(1) = \beta(D_q u)(\eta),$$

where $0 < \beta \eta^{\alpha-2} < 1$. By the properties of the Green function and the lower and upper solution method, some new existence to the above boundary value problem are established. As applications, examples are presented to illustrate the main results.

Keywords: Fractional q-difference equations; Lower and upper solution method; Positive solution

Mathematics Subject Classification (2000): 26A33; 34B18; 34B27

1. Introduction

Recently, an increasing interest in studying the existence of solutions for boundary value problems of fractional order functional differential equations has been observed [1–11]. Fractional differential equations describe many phenomena in various fields of science and engineering such as physics, mechanics, chemistry, control, engineering, etc. For an extensive collection of such results, we refer the readers to the monographs by Samko et al [12], Podlubny [13] and Kilbas et al [14].

On the other hand, the q-difference calculus or quantum calculus is an old subject that was first developed by Jackson [15, 16]. It is rich in history and in applications as the reader can confirm in the paper [17].

The origin of the fractional q-difference calculus can be traced back to the works by Al-Salam [18] and Agarwal [19]. More recently, maybe due to the explosion in research within

^{*} E-mail address: songyueqiang@sohu.com(S.Song).

 $^{^\}dagger$ Corresponding author at: Research department, Changchun Normal University, Changchun 130032, Jilin, PR China. The telephone number: 08613578905216.

the fractional differential calculus setting, new developments in this theory of fractional q-difference calculus were made, e.g., q-analogues of the integral and differential fractional operators properties such as the q-Laplace transform, q-Taylor's formula [20, 21], just to mention some.

Recently, some works consider the existence of positive solutions for nonlinear q-fractional boundary value problem (see [22, 23]). As is well-known, the aim of finding positive solutions to boundary value problems is of main importance in various fields of applied mathematics (see the book [24] and references therein). In addition, since q-calculus has a tremendous potential for applications [17], we find it pertinent to investigate such a demand. To the authors' knowledge, no one has studied the existence of positive solutions for nonlinear q-fractional three-point boundary value problem (1.1) and (1.2) by using the lower and upper solution method.

In this paper, we deal with the following three-point boundary value problem

$$(D_q^{\alpha}u)(t) + f(t, u(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha < 3,$$
 (1.1)

$$u(0) = (D_q u)(0) = 0, \quad (D_q u)(1) = \beta(D_q u)(\eta),$$
 (1.2)

where $0 < \beta \eta^{\alpha-2} < 1$, 0 < q < 1. We will prove the existence of a positive solution for the boundary value problems (1.1)-(1.2) by using the lower and upper solution method. This work is motivated by papers [22, 23, 25].

2. Preliminaries

We need the following definitions and lemmas that will be used to prove our main results. Let $q \in (0,1)$ and define

$$[a]_q = \frac{1 - q^a}{1 - q}, \quad a \in \mathbb{R}.$$

The q-analogue of the power function $(a-b)^n$ with \mathbb{N}_0 is

$$(a-b)^0 = 1, \quad (a-b)^n = \prod_{k=0}^{n-1} (a-bq^k), \quad n \in \mathbb{N}, \quad a, b \in \mathbb{R}.$$

More generally, if $\alpha \in \mathbb{R}$, then

$$(a-b)^{(\alpha)} = a^{\alpha} \prod_{n=0}^{\infty} \frac{a - bq^n}{a - bq^{\alpha+n}}.$$

Note that, if b=0 then $a^{(\alpha)}=a^{\alpha}$. The q-gamma function is defined by

$$\Gamma_q(x) = \frac{(1-q)^{(x-1)}}{(1-q)^{x-1}}, \quad x \in \mathbb{R} \setminus \{0, -1, -2, \ldots\},$$

and satisfies $\Gamma_q(x+1) = [x]\Gamma_q(x)$.

The q-derivative of a function f is here defined by

$$(D_q f)(x) = \frac{f(x) - f(qx)}{(1 - q)x}, \quad (D_q f)(0) = \lim_{x \to 0} (D_q f)(x),$$

and q-derivatives of higher order by

$$(D_q^0 f)(x) = f(x)$$
 and $(D_q^n f)(x) = D_q(D_q^{n-1} f)(x), n \in \mathbb{N}.$

The q-integral of a function f defined in the interval [0, b] is given by

$$(I_q f)(x) = \int_0^x f(t) d_q t = x(1-q) \sum_{n=0}^\infty f(xq^n) q^n, \quad x \in [0, b].$$

If $a \in [0, b]$ and f is defined in the interval [0, b], its integral from a to b is defined by

$$\int_{a}^{b} f(t)d_{q}t = \int_{0}^{b} f(t)d_{q}t - \int_{0}^{a} f(t)d_{q}t.$$

Similarly as done for derivatives, an operator I_q^n can be defined, namely,

$$(I_q^0 f)(x) = f(x)$$
 and $(I_q^n f)(x) = I_q(I_q^{n-1} f)(x), n \in \mathbb{N}.$

The fundamental theorem of calculus applies to these operators I_q and D_q , i.e.,

$$(D_q I_q f)(x) = f(x),$$

and if f is continuous at x = 0, then

$$(I_q D_q f)(x) = f(x) - f(0).$$

Basic properties of the two operators can be found in the book [26]. We now point out three formulas that will be used later (iD_q denotes the derivative with respect to variable i)

$$[a(t-s)]^{(\alpha)} = a^{\alpha}(t-s)^{(\alpha)},$$
 (2.1)

$$_{t}D_{q}(t-s)^{(\alpha)} = [\alpha]_{q}(t-s)^{(\alpha-1)},$$
(2.2)

$$\left({}_{x}D_{q} \int_{0}^{x} f(x,t)d_{q}t \right)(x) = \int_{0}^{x} {}_{x}D_{q}f(x,t)d_{q}t + f(qx,x). \tag{2.3}$$

Remark 2.1. [22] We note that if $\alpha > 0$ and $a \le b \le t$, then $(t-a)^{(\alpha)} \ge (t-b)^{(\alpha)}$.

The following definition was considered first in [19].

Definition 2.1. Let $\alpha \geq 0$ and f be a function defined on [0,1]. The fractional q-integral of the Riemann-Liouville type is $(I_q^0 f)(x) = f(x)$ and

$$(I_q^{\alpha} f)(x) = \frac{1}{\Gamma_q(\alpha)} \int_0^x (x - qt)^{(\alpha - 1)} f(t) d_q t, \quad \alpha > 0, \quad x \in [0, 1].$$

Definition 2.2 ([20]). The fractional q-derivative of the Riemann-Liouville type of order $\alpha \geq 0$ is defined by $(D_q^0 f)(x) = f(x)$ and

$$(D_q^{\alpha}f)(x) = (D_q^m I_q^{m-\alpha}f)(x), \quad \alpha > 0,$$

where m is the smallest integer greater than or equal to α .

Next, we list some properties that are already known in the literature. Its proof can be found in [19, 20]

Lemma 2.1. Let $\alpha, \beta \geq 0$ and f be a function defined on [0,1]. Then the next formulas hold: (1) $(I_q^{\beta} I_q^{\alpha} f)(x) = (I_q^{\alpha+\beta} f)(x)$,

$$(2) (D_q^{\alpha} I_q^{\alpha} f)(x) = f(x).$$

Lemma 2.2 ([22]). Let $\alpha > 0$ and p be a positive integer. Then the following equality holds:

$$(I_q^{\alpha} D_q^p f)(x) = (D_q^p I_q^{\alpha} f)(x) - \sum_{k=0}^{p-1} \frac{x^{\alpha - p + k}}{\Gamma_q(\alpha + k - p + 1)} (D_q^k f)(0).$$

3. Related lemmas

Lemma 3.1. Let $0 < \eta < 1$ and $\beta \neq \frac{1}{\eta^{\alpha-2}}$. If $h \in C[0,1]$, then the boundary value problem

$$(D_a^{\alpha}u)(t) + h(t) = 0, \quad 0 < t < 1, \quad 2 < \alpha < 3,$$
 (3.1)

$$u(0) = (D_q u)(0) = 0, \quad (D_q u)(1) = \beta(D_q u)(\eta)$$
 (3.2)

has a unique solution

$$u(t) = \int_0^1 G(t, qs)h(s)d_q s + \frac{\beta t^{\alpha - 1}}{[\alpha - 1]_q (1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs)h(s)d_q s, \tag{3.3}$$

where

$$G(t,s) = \frac{1}{\Gamma_q(\alpha)} \begin{cases} (1-s)^{(\alpha-2)} t^{\alpha-1} - (t-s)^{(\alpha-1)}, & 0 \le s \le t \le 1, \\ (1-s)^{(\alpha-2)} t^{\alpha-1}, & 0 \le t \le s \le 1, \end{cases}$$
(3.4)

$$H(t,s) = {}_{t}D_{q}G(s,t) = \frac{[\alpha - 1]_{q}}{\Gamma_{q}(\alpha)} \begin{cases} (1 - s)^{(\alpha - 2)}t^{\alpha - 2} - (t - s)^{(\alpha - 2)}, & 0 \le s \le t \le 1, \\ (1 - s)^{(\alpha - 2)}t^{\alpha - 2}, & 0 \le t \le s \le 1. \end{cases}$$
(3.5)

Proof. Consider p = 3. In view of Lemma 2.1 and Lemma 2.2, from (3.1) we see that

$$(I_q^{\alpha} D_q^3 I_q^{3-\alpha} u)(t) = -(I_q^{\alpha} h)(t)$$

and

$$u(t) = c_1 t^{\alpha - 1} + c_2 t^{\alpha - 2} + c_3 t^{\alpha - 3} - \int_0^t \frac{(t - qs)^{(\alpha - 1)}}{\Gamma_q(\alpha)} h(s) d_q s.$$
(3.6)

From (3.2), we know that $c_3 = 0$. Differentiating both sides of (3.6) one obtain, with the help of (2.1) and (2.2)

$$(D_q y)(x) = [\alpha - 1]_q c_1 t^{\alpha - 2} + [\alpha - 2]_q c_2 t^{\alpha - 3} - \frac{[\alpha - 1]_q}{\Gamma_q(\alpha)} \int_0^t (t - qs)^{(\alpha - 2)} h(s) d_q s.$$

Using the boundary condition (3.2), we have $c_2 = 0$ and

$$c_1 = \frac{1}{\Gamma_q(\alpha)(1 - \beta \eta^{\alpha - 2})} \left[\int_0^1 (1 - qs)^{(\alpha - 2)} h(s) d_q s - \int_0^{\eta} \beta(\eta - qs)^{(\alpha - 2)} h(s) d_q s \right].$$

Therefore, the unique solution of boundary value problem (3.1)-(3.2) is

$$\begin{split} u(t) &= -\int_0^t \frac{(t-qs)^{(\alpha-1)}}{\Gamma_q(\alpha)} h(s) d_q s \\ &+ \frac{t^{\alpha-1}}{\Gamma_q(\alpha)(1-\beta\eta^{\alpha-2})} \left[\int_0^1 (1-qs)^{(\alpha-2)} h(s) d_q s - \int_0^\eta \beta(\eta-qs)^{(\alpha-2)} h(s) d_q s \right] \\ &= -\int_0^t \frac{(t-qs)^{(\alpha-1)}}{\Gamma_q(\alpha)} h(s) d_q s - \frac{\beta t^{\alpha-1}}{\Gamma_q(\alpha)(1-\beta\eta^{\alpha-2})} \int_0^\eta (\eta-qs)^{(\alpha-2)} h(s) d_q s \\ &+ \left(\frac{t^{\alpha-1}}{\Gamma_q(\alpha)} + \frac{\beta \eta^{\alpha-2} t^{\alpha-1}}{\Gamma_q(\alpha)(1-\beta\eta^{\alpha-2})} \right) \int_0^1 (1-qs)^{(\alpha-2)} h(s) d_q s \\ &= \frac{1}{\Gamma_q(\alpha)} \int_0^t ((1-qs)^{(\alpha-2)} t^{\alpha-1} - (t-qs)^{(\alpha-1)}) h(s) d_q s \\ &+ \frac{1}{\Gamma_q(\alpha)} \int_t^1 (1-qs)^{(\alpha-2)} t^{\alpha-1} h(s) d_q s + \frac{\beta \eta^{\alpha-2} t^{\alpha-1}}{\Gamma_q(\alpha)(1-\beta\eta^{\alpha-2})} \int_0^1 (1-qs)^{(\alpha-2)} h(s) d_q s \\ &- \frac{\beta t^{\alpha-1}}{\Gamma_q(\alpha)(1-\beta\eta^{\alpha-2})} \int_0^\eta (\eta-qs)^{(\alpha-2)} h(s) d_q s \\ &= \int_0^1 G(t,qs) h(s) d_q s + \frac{\beta t^{\alpha-1}}{[\alpha-1]_q(1-\beta\eta^{\alpha-2})} \int_0^1 H(\eta,qs) h(s) d_q s. \end{split}$$

The proof is complete.

Lemma 3.2. G defined by (3.4) has the following properties:

- (1) G is a continuous function and $G(t, qs) \ge 0$;
- (2) G(t, qs) is strictly increasing in the first variable.

Proof. The continuity of G is easily checked. On the other hand, let

$$h_1(t,s) = (1-s)^{(\alpha-2)}t^{\alpha-1} - (t-s)^{(\alpha-1)}, \quad 0 \le s \le t \le 1,$$

and

$$h_2(t,s) = (1-s)^{(\alpha-2)}t^{\alpha-1}, \quad 0 \le t \le s \le 1.$$

It is obvious that $h_2(t,qs) \geq 0$. Now, $h_1(0,qs) = 0$ and, in view of Remark 2.1, for $t \neq 0$

$$h_1(t, qs) = (1 - qs)^{(\alpha - 2)} t^{\alpha - 1} - (1 - q\frac{s}{t})^{(\alpha - 1)} t^{\alpha - 1}$$

$$\geq t^{\alpha - 1} \left[(1 - qs)^{(\alpha - 2)} - (1 - qs)^{(\alpha - 1)} \right] \geq 0.$$

Then we conclude that $G(t, qs) \ge 0$ for all $(t, s) \in [0, 1] \times [0, 1]$. This concludes the proof of Lemma 3.2 (1).

Next, for fixed $s \in [0, 1]$,

$$tD_q h_1(t, qs) = (1 - qs)^{(\alpha - 2)} [\alpha - 1]_q t^{\alpha - 2} - [\alpha - 1]_q (t - qs)^{(\alpha - 2)}$$

$$= (1 - qs)^{(\alpha - 2)} [\alpha - 1]_q t^{\alpha - 2} - [\alpha - 1]_q (1 - q\frac{s}{t})^{(\alpha - 2)} t^{\alpha - 2}$$

$$\geq (1 - qs)^{(\alpha - 2)} [\alpha - 1]_q t^{\alpha - 2} - [\alpha - 1]_q (1 - qs)^{(\alpha - 2)} t^{\alpha - 2} = 0.$$

This implies that $h_1(t, qs)$ is an increasing function of t. Obviously, $h_2(t, qs)$ is increasing in t. Therefore G(t, qs) is an increasing function of t for fixed $s \in [0, 1]$. The proof is complete. \square

Remark 3.1. Obviously, following the proof Lemma 3.2 (1) we have $H(\eta, qs) \ge 0$. By Lemma 3.1 and 3.2, we have $u(t) \ge 0$ if $1 - \beta \eta^{\alpha-2} > 0$ and $h(t) \ge 0$ on $t \in [0, 1]$.

4. Single positive solution of the boundary value problems (1.1)-(1.2)

In this section, we establish the existence of single positive solution for boundary value problem (1.1) and (1.2) by lower and upper solution method. We assume that $f:[0,1] \times [0,+\infty) \to [0,+\infty)$ is continuous in this section.

Lemma 4.1. If $u(t) \in C[0,1]$ and is a positive solution of (1.1) and (1.2), then $m\rho(t) \le u(t) \le M\rho(t)$, where

$$\rho(t) := \int_0^1 G(t, qs) d_q s + \frac{\beta t^{\alpha - 1}}{[\alpha - 1]_q (1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs) d_q s$$

and m, M are two constants.

Proof. Since $u(t) \in C[0,1]$, there exists M' > 0 so that $|u(t)| \leq M'$ for $t \in [0,1]$. Set

$$m := \min_{(t,u) \in [0,1] \times [0,M']} f(t,u), \quad M := \max_{(t,u) \in [0,1] \times [0,M']} f(t,u).$$

By view of Lemma 3.1, we have

$$\begin{split} m\rho(t) &\leq u(t) &= \int_0^1 G(t,qs) f(s,u(s)) d_q s \\ &+ \frac{\beta t^{\alpha-1}}{[\alpha-1]_q (1-\beta \eta^{\alpha-2})} \int_0^1 H(\eta,qs) f(s,u(s)) d_q s \leq M \rho(t). \end{split}$$

Thus we finished the proof of Lemma 4.1.

Now we introduce the following two definitions about the upper and lower solutions of fractional boundary value problem (1.1) and (1.2).

Definition 4.1. A function $\theta(t)$ is called a lower solution of fractional boundary value problem (1.1) and (1.2) if $\theta(t) \in C[0,1]$ and $\theta(t)$ satisfies

$$-(D_q^{\alpha}\theta)(t) \le f(t, \theta(t)), \quad 0 < t < 1, \quad 2 < \alpha \le 3,$$

$$\theta(0) \le 0, \quad (D_q\theta)(0) \le 0, \quad (D_q\theta)(1) \le \beta(D_q\theta)(\eta).$$

Definition 4.2. A function $\gamma(t)$ is called an upper solution of fractional boundary value problem (1.1) and (1.2) if $\gamma(t) \in C[0,1]$ and $\gamma(t)$ satisfies

$$-(D_q^{\alpha} \gamma)(t) \ge f(t, \gamma(t)), \quad 0 < t < 1, \quad 2 < \alpha \le 3,$$

 $\gamma(0) \ge 0, \quad (D_q \gamma)(0) \ge 0, \quad (D_q \gamma)(1) \ge \beta(D_q \gamma)(\eta).$

The main result of this paper is the following.

Theorem 4.1. The fractional boundary value problem (1.1) and (1.2) has a positive and strictly increasing solution u(t) if the following conditions are satisfied:

- (i) $f:[0,1]\times[0,+\infty)\to[0,+\infty)$ is continuous and nondecreasing with respect to the second variable and $f(t,0)\neq 0$ for $t\in Z\subset [0,1]$ with $\mu(Z)>0$ (μ denotes the Lebesgue measure);
- (ii) There exists a positive constant $\mu < 1$ such that

$$k^{\mu} f(t, u) \le f(t, ku), \quad \forall \ 0 \le k \le 1.$$

Proof. At first, we will prove that the functions $\theta(t) = k_1 g(t)$, $\gamma(t) = k_2 g(t)$ are lower and upper solutions of (1.1) and (1.2), respectively, where $0 < k_1 \le \min\left\{\frac{1}{a_2}, (a_1)^{\frac{\mu}{1-\mu}}\right\}$, $k_2 \ge \max\left\{\frac{1}{a_1}, (a_2)^{\frac{\mu}{1-\mu}}\right\}$ and

$$a_1 = \min \left\{ 1, \inf_{t \in [0,1]} f(t, \rho(t)) \right\} > 0, \quad a_2 = \max \left\{ 1, \sup_{t \in [0,1]} f(t, \rho(t)) \right\}$$

and

$$g(t) = \int_0^1 G(t, qs) f(s, \rho(s)) d_q s + \frac{\beta t^{\alpha - 1}}{[\alpha - 1]_q (1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs) f(s, \rho(s)) d_q s.$$

By view of Lemma 3.1, we know that g(t) is a positive solution of the following equations

$$(D_q^{\alpha}u)(t) + f(t, \rho(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha < 3,$$

 $u(0) = (D_q u)(0) = 0, \quad (D_q u)(1) = \beta(D_q u)(\eta).$

From the conclusion of Lemma 4.1, we know that

$$a_1 \rho(t) \le g(t) \le a_2 \rho(t), \quad \forall \ t \in [0, 1].$$

Thus, by virtue of the assumption of the Theorem 4.1, it follows that

$$k_1 a_1 \le \frac{\theta(t)}{\rho(t)} \le k_1 a_2 \le 1, \quad \frac{1}{k_2 a_2} \le \frac{\rho(t)}{\gamma(t)} \le \frac{1}{k_2 a_1} \le 1,$$

$$(k_1a_1)^{\mu} \ge k_1, \ (k_2a_2)^{\mu} \le k_2.$$

Therefore, we have

$$f(t,\theta(t)) = f\left(t, \frac{\theta(t)}{\rho(t)}\rho(t)\right) \ge \left(\frac{\theta(t)}{\rho(t)}\right)^{\mu} f(t,\rho(t)) \ge (k_1 a_1)^{\mu} f(t,\rho(t)) \ge k_1 f(t,\rho(t)),$$

$$k_2 f(t, \rho(t)) = k_2 f\left(t, \frac{\rho(t)}{\gamma(t)} \gamma(t)\right) \ge k_2 \left(\frac{\rho(t)}{\gamma(t)}\right)^{\mu} f(t, \gamma(t)) \ge k_2 (k_2 a_2)^{-\mu} f(t, \gamma(t)) \ge f(t, \gamma(t)).$$

It implies that

$$-(D_q^{\alpha}\theta)(t) = k_1 f(t, \rho(t)) \le f(t, \theta(t)), \quad 0 < t < 1, \quad 2 < \alpha < 3,$$

$$-(D_q^{\alpha}\gamma)(t) = k_2 f(t, \rho(t)) \ge f(t, \gamma(t)), \quad 0 < t < 1, \quad 2 < \alpha < 3.$$

Obviously, $\theta(t) = k_1 g(t)$, $\gamma(t) = k_2 g(t)$ satisfies the boundary conditions (1.2). So, $\alpha(t) = k_1 g(t)$, $\beta(t) = k_2 g(t)$ are lower and upper solutions of (1.1) and (1.2) respectively.

Next, we will prove that the fractional boundary value problem

$$(D_q^{\alpha}u)(t) + g(t, u(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha < 3,$$
 (4.1)

$$u(0) = (D_q u)(0) = 0, \quad (D_q u)(1) = \beta(D_q u)(\eta), \tag{4.2}$$

has a solution, where

$$g(t, u(t)) = \begin{cases} f(t, \theta(t)), & \text{if } u(t) \leq \theta(t), \\ f(t, u(t)), & \text{if } \theta(t) \leq u(t) \leq \gamma(t), \\ f(t, \gamma(t)), & \text{if } \gamma(t) \leq u(t). \end{cases}$$

Thus, we consider the operator $A: C[0,1] \to C[0,1]$ define as

$$Au(t) = \int_0^1 G(t, qs)g(s, u(s))d_q s + \frac{\beta t^{\alpha - 1}}{[\alpha - 1]_q(1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs)g(s, u(s))d_q s,$$

where G(t, qs) and $H(\eta, qs)$ are defined in Lemma 3.1. Since the function f(t, u) in nondecreasing in u, this shows that, for any $u \in C[0, 1]$,

$$f(t, \theta(t)) \le g(t, u(t)) \le f(t, \gamma(t))$$
 for $t \in [0, 1]$.

The operator $A: C[0,1] \to C[0,1]$ is continuous in view of continuity of G(t,s) and g(t,u(t)). By means of Arzela-Ascoli theorem, A is a compact operator. Therefore, from Leray-Schauder fixed point theorem, the operator A has a fixed point, i.e., fractional boundary value problem (4.1)-(4.2) has a solution.

Finally, we will prove that fractional boundary value problem (1.1) and (1.2) has a positive solution.

Suppose $u^*(t)$ is a solution of fractional boundary value problem (4.1)-(4.2). Since the function f(t, u) is nondecreasing in u, we know that

$$f(t, \theta(t)) \le g(t, u^*(t)) \le f(t, \gamma(t))$$
 for $t \in [0, 1]$.

Thus

$$-(D_q^{\alpha}z)(t) \ge f(t, \gamma(t)) - g(t, u^*(t)) \ge 0,$$

$$z(0) = (D_qz)(0) = 0, \quad (D_qz)(1) = \beta(D_qz)(\eta),$$

where $z(t) = \gamma(t) - u^*(t)$. By virtue of Remark 3.1, $z(t) \ge 0$, i.e., $u^*(t) \le \theta(t)$ for $t \in [0, 1]$. Similarly, $\beta(t) \le u^*(t)$ for $t \in [0, 1]$. Therefore, $u^*(t)$ is a positive solution of fractional boundary value problem (1.1) and (1.2).

In the following, we will prove that this positive solution u(t) is strictly increasing function. As $u(0) = \int_0^1 G(0, qs) f(s, u(s)) d_q s$ and G(0, qs) = 0 we have u(0) = 0.

Moreover, if we take $t_1, t_2 \in [0, 1]$ with $t_1 < t_2$, we can consider the following cases. Case 1: $t_1 = 0$, in this case, $u(t_1) = 0$ and, as $u(t) \ge 0$, suppose that $u(t_2) = 0$. Then

$$0 = u(t_2) = \int_0^1 G(t_2, qs) f(s, u(s)) d_q s + \frac{\beta t_2^{\alpha - 1}}{[\alpha - 1]_q (1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs) f(s, u(s)) d_q s.$$

This implies that

$$G(t_2, qs) \cdot f(s, u(s)) = 0, \quad a.e.(s)$$

and as $G(t_2, s) \neq 0$ a.e.(s) we get f(s, u(s)) = 0 a.e.(s).

On the other hand, f is nondecreasing with respect to the second variable and therefore we get

$$f(s,0) \le f(s,u(s)) = 0$$
, a.e.(s)

which contradicts the condition (i) $f(t,0) \neq 0$ for $t \in Z \subset [0,1](\mu(Z) \neq 0)$. Thus $u(t_1) = 0 < u(t_2)$.

Case 2: $0 < t_1$. In this case, let us take $t_2, t_1 \in [0, 1]$ with $t_1 < t_2$, then

$$u(t_2) - u(t_1) = \int_0^1 (G(t_2, qs) - G(t_1, qs)) f(s, u(s)) d_q s$$
$$+ \frac{\beta(t_2^{\alpha - 1} - t_1^{\alpha - 1})}{[\alpha - 1]_q (1 - \beta \eta^{\alpha - 2})} \int_0^1 H(\eta, qs) f(s, u(s)) d_q s.$$

Taking into account Lemma 3.2 (2) and the fact that $f \ge 0$, we get $u(t_2) - u(t_1) \ge 0$.

Suppose that $u(t_2) = u(t_1)$ then

$$\int_0^1 (G(t_2, qs) - G(t_1, qs)) f(s, u(s)) d_q s = 0$$

and this implies

$$(G(t_2, qs) - G(t_1, qs))f(s, u(s)) = 0$$
 a.e.(s).

Again, Lemma 3.2 (2) gives us

$$f(s, u(s)) = 0 \quad a.e.(s)$$

and using the same reasoning as above we have that this contradicts condition (i) $f(t,0) \neq 0$ for $t \in Z \subset [0,1](\mu(Z) \neq 0)$. Thus $u(t_1) = 0 < u(t_2)$. We have finished the proof of Theorem 4.1.

5. Example

Example 5.1. As an example we mention the following fractional boundary value problem

$$\begin{cases}
(D_q^{\frac{5}{2}}u)(t) + f(t, u(t)) = 0, & 0 < t < 1, \\
u(0) = (D_q u)(0) = 0, & (D_q u)(1) = \beta(D_q u)(\eta),
\end{cases}$$
(5.1)

where 0 < q < 1 and $0 < \beta \eta^{\alpha - 2} < 1$ and $f(t, u) = t + u^{\mu}, \ 0 < \mu < 1$.

Proof. Since $k^{\mu} \leq 1$ for $0 < \mu < 1$ and $0 \leq k \leq 1$. It is easy to check that

$$k^{\mu}f(t,u) = k^{\mu}t + k^{\mu}u^{\mu} \le t + (ku)^{\mu} = f(t,ku).$$

Thus, by Theorem 4.1 we know that the boundary value problem (5.1) has a positive and strictly increasing solution u(t).

6. Acknowledgment

The author is supported by Research Fundation during the 12st Five-Year Plan Period of Department of Education of Jilin Province, China, Natural Science Foundation of Changchun Normal University.

References

- M. Benchohra, J. Henderson, S. K. Ntouyas, and A. Ouahab, Existence results for fractional order functional differential equations with infinite delay, J. Math. Anal. Appl., 338 (2008) 1340-1350.
- [2] A. M. A. El-Sayed, A. E. M. El-Mesiry and H. A. A. El-Saka, On the fractional-order logistic equation, Appl. Math. Letters, 20 (2007) 817-823.
- [3] M. El-Shahed, Positive solutions for boundary value problem of nonlinear fractional differential equation, Abstract and Applied Analysis, Vol. 2007, Article ID 10368, 8 pages, 2007, doi: 10.1155/2007/10368.
- [4] V. Lakshmikantham, A. S. Vatsala, Basic theory of fractional differential equations, Nonlinear Anal., 69 (2008) 2677-2682.
- [5] V. Lakshmikantham, A. S. Vatsala, General uniqueness and monotone iterative technique for fractional differential equations, Appl. Math. Letters, 21 (2008) 828-834.
- [6] V. Lakshmikantham, Theory of fractional functional differential equations, Nonlinear Anal., 69 (2008) 3337-3343.
- [7] C.F. Li, X.N. Luo, Y. Zhou, Existence of positive solutions of the boundary value problem for nonlinear fractional differential equations, Comput. Math. Appl., 59 (2010) 1363-1375.
- [8] S. Zhang, Existence of solution for a boundary value problem of fractional order, Acta Mathematica Scientia, 26 (2006) 220-228.
- [9] Y. Zhou, Existence and uniqueness of fractional functional differential equations with unbounded delay, Int. J. Dyn. Syst. Differ. Equ., 1 (2008) 239-244.
- [10] Jing Chen, Xianhua Tang. Infinitely many solutions for a class of fractional boundary value problem. Bull. Malays. Math. Sci. Soc. (2). Accepted.
- [11] Zhenhai Liu, Jitai Liang. Multiple solutions of nonlinear boundary value problems for fractional differential equations. Bull. Malays. Math. Sci. Soc. (2). Accepted.
- [12] S. G. Samko, A. A. Kilbas and O. I. Marichev, Fractional Integrals and Derivatives. Theory and Applications, Gordon and Breach, Yverdon, 1993.
- [13] I. Podlubny, Fractional Differential Equations, Mathematics in Sciences and Engineering, 198, Academic Press, San Diego, 1999.

- [14] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, Theory and Applications of Fractional Differential Equations. North-Holland Mathematics Studies, 204. Elsevier Science B. V., Amsterdam, 2006.
- [15] F.H. Jackson, On q-functions and a certain difference operator. Trans. Roy Soc. Edin., 46 (1908) 253-281.
- [16] F.H. Jackson, On q-definite integrals, Quart. J. Pure and Appl. Math., 41 (1910) 193-203.
- [17] T. Ernst, The History of q-Calculus and a New Method, U. U. D. M. Report 2000:16, ISSN 1101-3591, Department of Mathematics, Uppsala University, 2000.
- [18] W. A. Al-Salam, Some fractional q-integrals and q-derivatives, Proc. Edinburgh Math. Soc., (2) 15 (1966/1967) 135-140.
- [19] R.P. Agarwal, Certain fractional q-integrals and q-derivatives, Proc. Cambridge Philos. Soc., 66 (1969) 365-370.
- [20] P.M. Rajković, S.D. Marinković, M.S. Stanković, Fractional integrals and derivatives in q-calculus, Appl. Anal. Discrete Math., 1 (1) (2007) 311-323.
- [21] F.M. Atici, P.W. Eloe, Fractional q-calculus on a time scale, J. Nonlinear Math. Phys., 14 (3) (2007) 333-344.
- [22] R.A.C. Ferreira, Nontrivial solutions for fractional q-difference boundary value problems, Electron, J. Qual. Theory Differ. Equ., (70) (2010) 10 pp.
- [23] R.A.C. Ferreira, Positive solutions for a class of boundary value problems with fractional q-differences, Comput. Math. Appl., 61 (2011) 367-373.
- [24] R.P. Agarwal, D. O'Regan, P.J.Y. Wong, Positive Solutions of Differential, Difference and Integral Equations, Kluwer Acad. Publ., Dordrecht, 1999.
- [25] S. Liang, J.H. Zhang, Positive solutions for boundary value problems of nonlinear fractional differential equation, Nonlinear Anal., 71 (2009) 5545-5550.
- [26] V. Kac, P. Cheung, Quantum Calculus, Springer, New York, 2002.